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5-minute Quiz #9

Answer these two questions:

1. In a pairs skating competition a male 80-kg skater is carrying his 40-kg partner. The couple is gliding
backward at a constant speed of −3 m/s with respect to the rink. What is the momentum of the couple
with respect to the rink? [2 points] What is the speed of the male skater after he throws his partner
forward at a speed 1.50 m/s relative to the ice? [3 points]

2. A 500-kg cannon fires a 20-kg cannon ball at a speed of 400 m/s. The explosion lasts 1 ms. What is the
recoil speed of the cannon? [3 points]. What is the average force applied by the ball on the cannon?
[2 points]




